DEFINITE INTEGRATION-PYQ

The value of the integral, dx is-
i f /— X
[AIEEE-2006]
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[(x+m)? +cos?(x+3m)]dx is equal to-
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[AIEEE-2006]
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j'xf(sin x)dx is equal to- [AIEEE-2006)
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The value of I[X]f X)dx  a > 1, where [x] denotes

the greatest integer not exceeding x is- [AIEEE-2006]
(1) [a] f(@) — {f(1) + f(2) + ... + f(a])}

(2) [a] f(lal) — {(1) + £(2) + ... + f(@)}
(3) af(al) - {f(1) + (2) + ... + f(a)}
(4) a f(a) - {f(1) + f(2) + ... + {([a])}
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Let F(x) = f(x) + f(%) , where () = [ = A

Al

dt. Then

F(e) equals- [AIEEE-2007]
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The solution for x of the equation J‘ — = —is
N t t2 1 1:3

[AIEEE-2007]
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dx. Then which

Letl = jﬁdxa dd = ICOSX

one of the following is true ? [AIEEE-2008]
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I[cot x]dx , where [.] denotes the greatest integer

function, is equal to - [AIEEE-2009]
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Let p(x) be a function defined on R such that

pPx) = p(1 —x), for all x € [0, 1], p(0) = 1 and
1

p(1) = 41. Then J' p(x) dx equals :- [AIEEE-2010]
0

(1) 41 (2) 21

(3) 41 @) 42

The value of j de is - [AIEEE-2011]
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Let [.] denote the greatest integer function then the
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value of _[0 x[x?]dx is - [AIEEE-2011]
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.[cos4t dt , then g(x + m) equals :

[AIEEE-2012]
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Statement-I : The value of the integral

n/3

J‘ dx
=76 1 +vtanx

is equal to % [JEE (Main)-2013]

b b
Statement-II: [ fix)dx = [ fla+b-x)dx.

(1) Statement-I is true, Statement-II is true;
statement-II is a correct explanation for
Statement-I.

(2) Statement-I is true, Statement-II is true;
statement-Il is not a correct explanation for
Statement-I.

(3) Statement-I is true, Statement-II is false.

(@) Statement-l is false, Statement-II is true.

The integral j\/ 1+ 4sin® % —4sin %dx equals :
0

[JEE(Main)-2014]

p-4 (2)%”—4—46
3) 4y3_4 4) 4@—4-%

The integral [JEE (Main) 2015]

4

J- logx? dx

> logx® +10g(36 — 12x + x*)

is equal to :

(1)1 (2) 6 (3) 2 (4) 4
. n+1)(n+2)...3n )"

}gl}o(( )(n2“ ) j is equal to :-

[JEE (Main) 2016]
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The integral J l+cosx is equal to :-

[JEE (Main) 2017]
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The value of aj

dx is :[JEE (Main) 2018]
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[IIT-2007]
Column-I Column-Il
[ 3loa(3)
(A) jl = () glog| 5
L dx (2)
B Q 2log| =
® [ @ 2log| 3
3 dx b
© j — R 3
2
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(D) S =
’!x z | 2
LI = j X e n=0,1,2,.. then
(1+n )sinx
[IIT-2009]
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M1 =1, (2) 2 Loma =107
m=1
10
(3) LLm=0 @ 1=,
=1

Let f: R — R be a continuous function which satisfies

f(x) = [f(t)dt .Then the value of f(in 5) is
0
[IIT-2009]
(10 2)1
(3)2 45
1 Ftm1+1)

The value of )1(1210 3 !;Wdt is [IT-2010]

1 1 1
(1) 0 @ 15 B 54 @ 1

Let f be the function on [-r,x] given by f(0)= 9

. (9x (%
and f(x) = Sm[zj/sm(zjfor x # 0. The value

9
f = j f(x)dx s .-
2 0

[1IT-2010]
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Vin3 .2
Xsinx 98 k+1
24. The value of — —dx s *928. If 1= . then
Jinz SINX +sin(In6 - X*) kz; ][ X X+1
[IIT-2011]
[JEE(Advanced)-2017]
D ind 9 ind® @gnd @ lnd 49
4 2 2 2 2 6 2 W I<35 (2) 1 < log,99
25. The value of the integral
/2 T+ X I Q
_[ (xz +1n jcosxdx is [IIT-2012] (3) 50 (4) > log, 99
—n/2 n—X
sin(2x) .
29. ligk) = [ sin'(t)dt, then
TEZ TCZ TCZ sSinx
(1)0 2 ——4 (3) —+4 @) — [JEE(Advanced)-2017]
2 2 2
4 (1) g'[Ej I 2) g(_E} = 2n
2 x% cos x 2 2
26. The value of _[ dx is equal to
T 1+e*
n T T
E &) g'[;] = 2n @ g'[—gj = -2n
[JEE(Advanced)-2016]
5 g 30. For each positive integer n, let
T e
1 —-2 2 —+2 1 P
4 4 y = —(m+D(n+2)..(n+n)""
n
3) nt—e2 a) 2 +e2 Forx € R, let [x] be the greatest integer less than
27. letf: R — R be a differentiable function such or equal tox. B Tim y. =L, then the value of
T n—oo n
that £(0) = 0, f(a) =3 and f(0) = 1. If L]is [JEE(Advanced)-2018]
31. The value of the integral
2
alx) = Hf’(t)cosec t —cot t cosec tf(t)] dt 1
i 2 1+3
P J T dx
for x e 0’5 , then lim__ , g(x) = 0((X+1)2(1—X)6)4
[JEE(Advanced)-2017] is
[JEE(Advanced)-2018]
Marked Questions are multiple answer
Que. 1 2 3 5 6 7 8 )
Ans. 1 2 3 I 1 2 2 2
Que. 10 11 12 13 14 15 16 17 18
Ans. 3 i | 3,4 i | 4 1 3 3 3
Que. 19 20 21 22 23
Ans. (A) > (S); (B) > (S); (C) - (P); (D)~ (R) 1,2,3 1 2 3
Que. 24 25 26 27 28 29 30 31
Ans. 1 2 1 2 2,3 Bonus 1 2




